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100 0000000000000000000w=00w=10w=-1000000
00000 [ver, v, ] 0000000000000 Formulate motion constraints
imposed on the object shown in the figure. Illustrate region of possible [ oy, oy ] at

w=0,w=1,and w = —1.
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2000 000000000000000 A0DOO0ODOOO0OOODOOO0DoDO0O0oOOoon
00000 Draw the shortest path tree from start node A using Dijkstra method.
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00000000000000 Gyt D G 0000000000 Show that phase-
only correlation function is described as above.

400 000000000000 000D0D0D0O0000  Describe how soft fingertips
contribute to object grasping and manipulation.



